SH6EE R—/N—T 21— M

B == ee

EPASPESS

F A

NO. [3Rd% EF 4 Ref BAESE
NAT—K (T4F27) |IEK TE#H 1
2
3
20 x7—h (J4F¥27) |ZB #HK 1
2
3
J|IAT—h (T4 Fxa7) |SM@ F 1
2
3
NAT—h (TJ4Fa27) |ER 1K 1
2
3
b A4 — Kk (RE—K) ER (BHH |1
2
3
6| R — bk (RE—R) M 1HE 1
2
3
N AT—hk (RE—FK) & =28 1
2
3
B| A — bk (RE—K) =GR 1
2
3
I X7 — kK (RE—K) =1 BA 1
2
3
10| R7—hK (RE—RK) IBE & 1
2
3
Mx7r—hr (RE—FK) RS 1
2
3
12|27 — bk (RE—FK) FE X 1
2
3
B X5 —F (RE—FR) AmE BE 1
2
3




SH6FEE X—/—=TXY—MEEEF K&

25
F/8EER A R—Y KRIKKFIRAR

4X100mA K L—1) L—7{]

NO. |##k EF 4 R4 BAEE
1A —K (RE—FR) Al BAZE 1
2
3
15[ R +— R tHE 1
2
3
16(FE L3540 s B 1
2
3
17(FE L3540 am % 1
2
3
18[FE L3+t A EMH 1
2
3
19(FE L34 Kika BHE | 1510 SEAAKELHRHEFERS 2h1 LZFESH 4mi0cm
22024 BA¥ERE FEREANEFEAS B LZrEsEk 4milcm
3% 9 3EAAYLERE FHERIBREFERS 3hL LFESHK 4mi0cm
207k 5k e BZE 1 HAEFHE ImAeAR 241
2 F100[E € H AFAEZFENK KB AS 3meR 241
3 FBEIER A R—Y KEKXEERAS mtR 241
217Kk EH B3 IRAVEW PV, SOA GRA AL
2 BARZEFHE STOA B
LEEEFRBEABTRE SHA B
227K 5k B HBE | 2FHPERAGKIERAS 100m& ok =, 64z, b8Fp41 (PB)
2 FAIRIEEHIOCS 2 =7A U EY T hy TESKEKGEHEKRES 200m&E k=, 76z, 29306F015
3 F/BEIER AR —Y KK XmEAS 100mEg ok = - 400mi b L-Yb-, HiB
237Kk 7k BI)Il KF 1 BBEIER X R— Y K& KkmEiE A 400mfE N A K L —2{4zPB
2 B4/ELEICSa=T7H) vEY T hHy TESKKEEKRKE CSX 2 400m{E A A K L —247PB
3
24| 7Kk MA &8 1 #100[A] ¢ H A4 ZFIENK KT KNS 100m¥ 7k = 347143r08F»04PB, 200m3E 5k =biz2:27. 63
2 F/EIER R R— Y KK A AR 100m3E 5k 54710095031/ 4X 1004 KL —1) L—T741
3
257K 3k HF ZLE |1 FBEIER A R—Y KEKKFFHAES B B FOOMB 2227039 247
2
3
267K 5k EE FT 1 25100[E] £ H ARSFA R FHEKGKFRIFTAS 200mEA N A K L —24216F03
2
3




SH6FEE X—/—=TXY—MEEEF K&

NO. |&Z$k EF4 e BAiEE
277Kk THF: BA 1 20245 HE S 1 — 7 EFHEOWSEE 3km knockout sprint {Epk
2 25 100[ 4 B A= F he sk ks A R 0SEE BkmfB Bk 10kmiE i
SEIOES 2 =TI T 4y I BFES KK 800mB B34z 1500mBE B2 34T
287k ik NE XKE 1 $100[0] £ H A4 ZBFHEK KR AS 100m# k< DbbFbE7 HERREI4]
2 100 2 H A4 R FENKKTRIEAS 200m&E kS 19595040 RESDAL
3 FBEIER AR—Y KREKiKkEEHEKE 100m&E Kk E  H6FM1b  FEILGNAL
29| T7=R i RE 1 1=/ 042BAY 17T = XA ZFH2024 1I8mUTEF U J )L B
2 B4R eESEFRT Z LEFIEAS BXS UTILA2NA
3
IR T EEX REE 1
2
3
S A7 Ml <n |1
2
3
2(NL—R—JL BELE O OEI 1
2
3
33|11 (FRE) EE I 1
2
3
AR (3R B XTI 1
2
3
3b|fA#E (Fih) BE ED 1
2
3
36|A1%E GFrikiR) = BR 1
2
3
7|11 (ki) =M =XR=E 1
2
3
38|11 (ki) wE OMNEE |
2
3
(LR MEA FEH | 1 fESEFRLAY VT RFERR L FENEDT7kefk 5
2 BAAME B A RIRETFIE L Fhokefk T4
3
OILARY VT M EX 1TJOCHRS =7 A —V ANy LAY VT BFERES U200 ER53ke#k BT

2

PEBEZERLRAY VI RFERS

2 B A\ B5bkg#k  bfr

3




SH6FEE X—/—=TXY—MEEEF K&

NO. |5k EF 4 Re4 BiEE
MLRY T AE BE 1S 2 =794 —2V XAy TLRYY VT RFEEKRE U20D EE53keg#k  BEr
? CESEERLRY VTBEERES Z A NEb3kefk 5fr
3
RILAY T JKE  KH 1
2
3
43(L Ry G A BKF | 1JIOCHRS a=FHO9A—VRAY TLRY VT EFIERS U170 ER61kegfk 347
2
3
MLy g KE K 1
2
3
4blLR) T HHF FKE 1M 2= FIOA—V XAy TLURY VT RFERS U170 #EBAOKe R 1M
? LEEEFERKRLRY VBEERES Z @ NEb0kefk 37
3 UI7HREFHE U17-WW49ke#k 241
PP MA F#HE | 1R 2 =TI A —VAAY TR VT EFERS U170 ER43ke#k 34
2
3
ATIflL XY 5T T =X 128AARSa2a=7 LR VITEFERSUTT 2L
2 PESEERMBEARB AR 15
3
481X 5 F B® 12BARS 27 LR VT EFEREU2 115
2 PESEERMBEARBAS 341
3
OILRY 5 wAR FE | *ESEFERBEAREAS 15
2
3
BO[L R >4 T &A 128X 27 LR VT EFERRUT Hi5
2 LESEERMBEARB RS 341
3
BI[L XY >4 H #&% 14€BAa2=-7 LR VTBFEEREU20 Hi5
2 PESEFRBEARBAR 5
3
R2[L R >4 & H3t 14€BAa2=-7LRYVTBFERRUT Hi5
2
3
B3l xA N TT 45 Pk =B 120245 > 1 — 7 BFHE 49kg#k Total 134kg 14fI
2
3
bAoA M) TT 4T FAE BRF] 1 £ HAEFHE /0kg#k Total 199kg 447

2 2 AR AN

76kg#k Snatch 90kg &R

3




SH6EE R—/N—T 21— M

BEREF A

NO. |3k BFL N MAEE
bb| & Bk IRARFR 1
2
3
el vy FaRE  EE 1
2
3
b7|Z A TILGEE 2H FE 1
2
3
BBIRIR—YI T4 T mE BEA 1 IFSC #H5H 1 — X ZFH2024 Under18 25
2F12E) — RA—ZXAFAEFE 11— XA 2451
3BIOEAIIL AT —I—XBHARZEFE 21— XA s
ORR—=YTZTAZY FARE IR 1EI0EARIILE—OI—XBAREFE Sa1=27 3 41
2 |[FSCtHH R 1 — X ZF #2024 Under?20 22437 (FEBR)
3
60| 5 X — BH I | RS 1 —7BFHELS WK-4 500m #EREXEHOR 153445633
2HEAAX—RT) U MEFEKXRS WK-2 500m &5 14rb4F5992
WK-2 500m &R 19577822
NV WK-2 200m &Efs 4270844
3 RERFARMERTAS WK=4 500m %g 163%0@‘057
WK-4 200m &fs 4050389
=N Bl W 1
2
3
62| 3L 7 hE tiE 1
2
3
63|TILT EFSLB 1
2
3
64| T IL T Keg RE 1
2
3




